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LIC AAO Mains Previous Year Paper of Data Analysis & Interpretation - 2019

Directions (1 -5): = & 7 arferwr ﬁ", et fir
T&IT, ATHI T TAqT 3T TF e F qefie R
(=F + AsTHAT) it T&AqT F Tead H I G &
TTET & IATAT 147 {1 A T T ST *° SATgEH
Feae oy SR Al wt & Sax s

T He & FefieT . .
. N K ERI ASHT BT
W | Rt fraer | wRed
BES

A 8 80 60%

B 15 144 68%

C 16 176 45%

D 24 108 70%

E 25 90 64%

Q1. §qT D & He Y ¥&AT, €219 A | W iy
HEAT | TohaeT Tiaera strer/+e 572

(a) 20%

(b) 160%

(c) 80%

(d) 60%

(e) 40%

BILINGUAL

BANK

PRIME

Q2. I TeT E ®, Frareh it §&4T H 60% i &
BT § i s it e | 35% Y iy et § sl
T HeX & el fenf¥ay f 9= § 20% & 3
BT &, T 9o E § e srfere #e &t sraregaran
2

() IS Tfers |Lers it 9T el §

(b) 1

(c) 2
(d)3

(e) 4

Q3. HeT B 3 ¢ # A= et f 3= g,
e D $iX E # e ety ft 3o e &
et sfar 872

(a) 130

(b) 140

(c) 150

(d) 160

(e) 170

Q4. I C & F Hed # H, 65% ARRA™ &, ar
O C § 29 #e $1 9 4T J1q Herg)

(a) 5

(b) 7

(©9
(d)11
(e) 13

Q5. 3= &I F ® faenf¥ai &t o dwar, €9 D
# fenfiat it 3o 9= ¥ 15% A8F g, o
Hax F i faafat fY geur, goe B # s 4
& srefier iR it weaT & 20% fw 3 = F

TEST PACK| ¥ srasaF Fet it gEAT T HHrT-
(a) 17
1200+ TOTAL TESTS (b) 19
(c) 21
@ 679 Only (d) 23
(e) 25
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Directions (6—10): RefifEa v F I A FAT§
AT FAT (1) AT FA7 (1)1 ot g Featfa s
& T A9 & T wIi &1 S 3 % o wta/erasaw
&3

(a) 7 T A (1) T 7 &1 FA7 (I1) T 3T H T T
S 9 & o1 o7y g

(b) 3Tt A (I1) TT T ITAL < o ToIT TATH g AT
ool FA () T T I & & (70 9379 5l 2

(c) AT AT FAT (1) T FHAT (II) I 3T H T7 FT I
% % forg 7= g

(d) T FAAT T T T =T AT =07 /7 39 oA
= ToIT staew g, AT <98 & Jls T FIT oohel I
FT I & % o7 9377 781 2

() 3TheT FAT (1) T 3T I & o (o7 TIATH g ATohel
sTehel A (I1) T T I & & o7 T Tl ¢

Q6. A F T 313 U9 3 39 48 € o wai= o
T FT T U & FT T F ATAF g1 313 U9 i< 10
R T T T G AT HIoC

FI (). A AT 94T FT 25% AT 92 ST Foft Gt

Q9. TF It H ¥ ¥ i, T T[@TAT i M g faeax
F A< 1 BT H FA N 710 AT

FI (). I 7 Heaw iz e it artear 1/2 2
FI (I1). 37 7 AT T A Aewrere it Jriwar 2/5 2

Q10.2021 ¥ TH ET A it T9EEAT § ITq e 9%
T AT H 40% T I g 3 A< 2020 F G AR
T TAGEAT 2500 71 2021 H [T FTAGEAT 37T 2020
H HigAT SEEeT 1 I J1q Fiforg)

FIT (1). 2021 & 9187 A F 20 fUger ag i gaar §
40% TE B

A (11). 2021 7 92T A Fit ATZAT0 fUger a9 6t gar
H 25% FH &

Directions (11 - 15): 7% rferr <7 R=meay A six
B # fafersr werrell # @ faeeft fafre faw SafRaa am
are Faerfefa & g e o iy F afdea #r
LTI B

FT 20% BT 9T 9=dT & 3 47 e 9ot o

T &7 AT FHAAq: 5:8 Tl
FI (II). THF U7 ST THF GTE F 7T oI 1 TR
S T A 6 HAaT F 24 ATAF B

Q7. T u¥qg ¥ uiw fA=meff (P, Q R, S ik T) 8l &g
H G99 FH Y F g€ St A ATq S

w9 (I). I T qTE P AT A0 22 F9 gT 3 7= a9
el Q T S AT A T ANT 27 a9 AT

FA (II). Q, R 3T T T aq#T o1 &7 3fEd 28.5 a9
g ST P, S 3T R T aqHT 1 &7 of¥q 24599 &

Q8. TH Bl <l # AT X 3 719 Y, &I & AqHA D
et it T A | 72 e 8l 64 e i awy
AT 1 ST G AIATE A UF w0 F oy aw fr T
Rt & & #T siax A1a i)

w9 (I). D FT 779 48 FHHT B

FA (II). 91T o TR 919 X Al T 1= % Ffaget
T Y @ i it 5/8 AT B

IERIER] — ERIER] -
T A B
(% ¥) (% ¥)
VI 450 32% _ 44%
Vil 260 45% 250 24%
VIII - 38% _ 60%
IX 560 - 792 25%
X 220 35% 350 -

Q11. IfX [t R=msrdt A F=r vil ¥ =T
Rrentiat f 3 d&ar 1625 €, STEth AT Harei |
SRRaq For fa=meft femae 766 €, @ =T et
H FET VI % T Y =47 | a1 Hiforg)

(a) 250

(b) 275

(c) 225

(d) 300

(€) TTH & FrE TE
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Q12. T A ® F&T VI & SufRya ey £ g,
A B # &&T IX § Sufera faenfar f dear w0
AT e wiaera 82

(2)65%

(b) 70%

() 75%

(d) 73%

(e) 80%

Q13. 7% e B F&7 VI Suteyg RFenf¥at 6
e, FameT A § 99T F97 § Sutedq eyt fi
T&IT F I A 2 F7 & O fFenas B A w7 VIF
Rt it o @eaT F1a ffvm

(a) 625

(b) 650

(c) 600

(d) 700

(e) =H H FIs gl

Q14. 3T fa=rmerw BH e X1 # Iyt faenfat $ir
T, T e | war X ®§ suftya fEenRi &
HEATH 142 % F &, Tl Frermery BH wem XI¥
A==t 400 §, a7 39 fa= A= B # e X1/ fohaw
yhaera faemft sufRea g7

(a) 25.5%

(b) 26.5%

(c) 27.5%

CERRIGEIES

(e)ﬁﬁﬁﬁ_gﬁa

TEST SERIES
BILINGUAL

C)

Q15. A A=At # s Far vl ® Sufg
Rt it o @ear s ffvn

(a) 157

(b) 187

(c) 167

(d) 177

(e)%ﬂ'ﬁ@fqﬁéﬂ_ﬁ

Direction (16-17): A ¥ X ¥9% &7 A3 & TH
AT IE AT 6 7EA F 912 B 39S 919 1500
T % fAaer F 9T € S1aT § A% C 8 WM a1k Y
TY F AT AT & AR ZY 14T 31 T * o K,
A, B 3T C ¥ AT {38 7 F9eT: Iqa1a 8:3 : 4 B

Q16. I AT 6 WEM F TS (Y AT T IRAT FX
=T 97 SR B 7 2 W F 19 ruw [Raer Fy s %
=T om | % RRE® 1 79 st s i

(a) 6:1:2

(b) 6:1:4

(c) 6:1:3

(d) 6:1:5

(e) 6:1:1

Q17.Y, X ¥ farae wicera stfers ar w7 87
(a) 50%
(b) 65%
(c) 70%
(d) 40%
(e) 60%

Direction (18 - 19): T% STIATHIT MATRT &,
ey aw=ft o S o | 150% A+ g, Sa
8% 1440 Hi2 g i &F § 10800 3 qr+¥ g

Q18. &F FT Tof THT &FABA ATT HI1SIT, A EF FT

LIC AAO T T A
MAINS (a) 2700 #i2
(0)2400 Hi2
(c) 3600 T2
45+ TOTAL TESTS (d) 4900 2
(e) 2100 #i2
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Q19. 7T TF JFTHRR &F T BT, AT e
& 1 FE qET wT 7/8 AT T X T@Ar IS
AIATHTL STATRT S ¥ FATS il AT &, AT AHTRIC
3 | arfaer 9Tt it ewar sra fifsrm

(a) 6730 Hi3

(b) 6530 I3

(c) 6930 13

(d) 6960 I3

(e) 6990 Hi3

Q20.THF T H 'A' 7 U, 11 AT 99 3 'B' Mee
U9 | IR T & TF 97 Aerar Sar g, O F F 99
e TRFAT 1/5 &, S TF MeeT A9
e it iRwaT 1/4 31 IR ST X AW A
ST &, Y Ferer 7T DT 9 % et S oY SR
FTa FifrT

@)=

(b)

©=

(d) 5

(©) =

Directions (21-25): Rufafes s =¥
HMYE® qieq X 7 T 17 w5 F I o
N7 STT-IreT FAFA (X, YR Z) | 19 FeA T
FHATRAT (TEUT ST ATGATS) T ToF HEAT &6 X A
STAH

Y § T®9 ¥ AigAr wHen 8:5 F aqurd § gl X H
HqigATd Y § qxUT A qAAr § 20 AfeF El Z H A
FHATRAT 1 §&4T 200 g T Z H T&ui &l &1 Y &
TEUT 3T X T AIGATS hl 3rad TedT gl Tt Fwataar
H foeTee el it 1 9T 335 ¢ ST Z H Atgara
T HEIT TEUT A qAAT H 60 FH 7

Q21. X 3 Y ® fA<rae qoul &t For deqr X Z |
FHATIT T T G&IT o S HT FAL AT HITIQ
(@) 2

(b) 10

(7

(d) 5

(e) 12

Q22.Z ¥ ST &I T d&aT F1 X # wigaret it 7
AT & AT AT AT

(a) 11:14

(b) 17:15

(c) 19:11

(d) 18:11

(e) 13:14

Q23. afx X # AT i 1 G&AT FT 25% AT Y H
TEET Y T TAT FT 20% FIH HEFC Z F i
BT &, A1 oAt Z | FHATRAT it 74T F1 g7 71
it
(a) 262
(b) 248
(c) 241
(d) 259
(e) 264

Q24. Z & AT A TN G&AT I FT-3TT AT
srria Fasar Sfi w1 |aTere | SHeT: 9:5 F SAquTd |
gl Z ¥ s AT & e 3 areft afgemsh it 3
AT, Y ® TRUl it T GeAqT 7 bt wiaerq 872

() 37.5%

(b) 25%

(c) 32.5%

(d) 16.66%

(e) 33.33%

Q25. ¥ Fufaat # et wfgamst fit T de T
wiTa Fferay

(a) 290
(b) 285
(c) 275
(d) 265
(e) 280

Q26. 250 e St T A U few § 9o arefy
350 H{eX &t 2 B & 50 e | UK F< gl &
A% 3T A § B ¥ T 7 SIqUTT FALT: 7:4 §, AT ST A
ST S I =l I HLA | T ATAT G0 ATq hI 191
St a1 2 B it F4TE #T 60% B

(a)gsec

(b)#sec

(c)%sec

(d)%sec

(e) % sec
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Q27.P 7 I FT-ST JIST30 A 3iIX B & X 794 Y
TaT fer F1 [Aae FEm A asmrEt F g s
T I U 15% &, AT TIST A FTETOT SqTST
TR AT § ST TISAT B g e sATST T&TH Feal gl
i 2 a9 T FSET A X B § WIH ST & S

AT 56.25 TIY &, AT "X FT 45%' FT HIT AT HIOT
(a) 1525

(b) 975

(c) 525

(d) 1125

(e) 1225

Q28. 9159 P 3 9159 Q et <& &l 7HT: 28 fee
3T 20 fAe & 9T 9 g1 I3 R FT Te7aT, 917 P
AT UTET Q F SfET TAAT & X% AfAF g1 TS TR
RATIET P &F &r 7 A § WX aFha §, O X FT AT
BTy

(a) 50

(b) 150

(c) 100

(d) 125
(e) 75

Q29. TH THMIRX A TH T U< S HT T q Y%
afa sifera T ik s& w 20% &t g & af=
THART A AT HT T4 I 8% FT ATH STfoia FowaT ok
&G T dfha T (16Y-20) €92 &, T I 7 fOwg

CREIRENELY
(a) Rs.432
(b) Rs.560
(c) Rs.405
(d) Rs.519
(e) Rs.610

Q. Xt s Y RAT A S aFa & 3R Y
wigaTd St Fwrf A X oA # v gt 81 IR 18 =W
< 17 wfgamd 1 & 1§ A asa g, A5
TEET 3T 6 AIRATS FTRT T FTH HT T FA | form
AT GHT AT o

(a) 5 days

(b) 2 days

(c) 8 days

(d) 12 days
(e) 15 days

S$1. Ans.(e)
Sol. Total number of students in institute A

= % x 100 = 200
Total number of students in institute D
=19« 100=360

~ 30
Number of mentors in institute A = % =25

Number of mentors in institute D = % =15
25-15 100
25

10
=X 100 = 40%

Required % =

$2. Ans.(c)

Sol. Number of girls after increment
=90 x 1.6 = 144

Number of boys after increment

=D w64 x12 =216
36 100

Number of students under one mentor after
increment=25x 1.2 =30

Total number of mentors required after increment
144+216 360

30 30

Total number of mentors before increment

90
_ 90+5-%X64  90+160 250 10
25 25 25

Number of mentors more required = 12 - 10 = 2

$3.Ans.(d)
Sol. Total number of students in institute B & C
together

144 176

=—Xx100+——x100 =450+ 320=770
32 55

Total number of students in institute D & E together

5 I www.bankersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

__ 108

— x 100 + — >< 100 =360+250=610
Requlred dlfference =770-610=160

S$4. Ans.(b)
Sol. Total number of students in institute C
ﬁ x 100 = 320

Number of mentors in institute C = % =20

Male mentors in institute C = 20 X fTSO =7

S5. Ans.(d)
Sol. Total number of students in institute F
_ 108 115

— x 100 X0 " =414
Total number of students under one mentor in
institute F=15x 1.2 =18
Number of mentors required in institute F= %= 23

S6. Ans.(d)

Sol. Let cost price of each pen and each pencil be Rs.
‘a’ and Rs. ‘b’ respectively.

8(125x5-) _s

10(%xb) T8

Statement (I).

Statement (II). (b + a) — (b — a) = 24

a=12

From (I) and (II)

Cost price of each pencil = % X 2 = Rs.24

We have cost price of each pen and pencil, we can
find the total amount

So, both the statements taken together are
necessary to answer.

TEST SERIES
BILINGUAL

C)

LIC ADO

PRE+MAINS

70+ TOTAL TESTS

S$7.Ans.(a)

Sol. Let the present age of P, Q,R,S& Tbep,q,1,s
& trespectively.

Statement (I). Present age of P =22 - 4 = 18 years
Present age of Q & S = 27+10 = 37 years

Statement (I) alone is not sufficient to answer.
Statement (II). Present age of Q, Rand T

=28.5 X3 =85.5 years

Present age of P, S and R = 24.5 X 3 = 73.5 years
Statement (II) alone is not sufficient to answer.

So, neither statement (I) nor statement (II) by itself
is sufficient to answer

$8. Ans.(e)
Sol. Statement (I). Let speed of stream, speed of
boat X and speed of boat Y be S, X and Y km/h

respectively.
Downstream speed of boat X
48 72

downstream speed of boat X 60
X+S=140
X=40-S
And
Downstream speed of boat Y

48 _ 64
downstream speed of boatY 60
Y+S= 45 ..()
Y=45-S

Req. difference=(45—-S+S)—(40—-S+25)
=5km

Statement (I) alone is sufficient to answer.
Statement (I1). (X + $) =2 x (Y —S)

Statement (II) alone is also sufficient to answer.

So, Statement (I) alone is sufficient to answer the
question but statement (II) alone is not sufficient to
answer the questions

$9. Ans.(d)
Sol. Let number of pink balls and silver balls in the
bagbexandy respectively.

Statement (I). =1

+y+2 2
y=x+2

Statement (II). iz %
3x =2y +4
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From (I) & (II)

We easily find out number of pink and silver balls
in the bag.

So, both the statements taken together are
necessary to answer

$10. Ans.(c)

Sol. Total population in 2020 = 2500

Total population in 2021 = 2500 X 2 = 3500

Statement (I). Let males in 2020 be = 5x

Males in 2021 = 7x

Statement (II). Let females in 2020 be = 4y
Females in 2021 = 3y

From statement (I) and statement (I)

5x + 4y = 2500 ... (a)

7x + 3y = 3500...(b)

From (a) and (b) we find the value of x and y

So, either statement (I) or statement (II) by itself is
sufficient to answer.

S11. Ans.(b)

Sol. ATQ, x X 0.38 + (1625 — x) X 0.60 = 766
x = 950

1625 —x = 675

Required difference = 950 — 675 = 275

$12. Ans.(d)
Sol. Required percentage = 1:—: x 100 = 73%

$13. Ans.(b)
Sol. Number of students present in class VI in

schoolB=2x[450x% —2 =286

The total number of students in class VI in school B

=286 x 2 = 650
44

TEST SERIES
BILINGUAL

BOI 2023

GBO (CREDIT)

60+ TOTAL TESTS

S$14. Ans.(d)
Sol. Since data is not sufficient to calculate the
required value.

$15. Ans.(d)
Sol. AT(Q,260 X => + 250 x 2= = 177
100 100

Solutions (16-17): Ratio of profit share of A, B and
C=

XX 12:6 X 1500:Y X 4=8:3:4

Profit share of B=6%x 1500 = 3x

3000 =x

Profit share of A=Xx 12 = 8 x 3000

X = Rs 2000

Profit share of C=YX 4 = 4 x 3000

Y = Rs 3000

$16. Ans.(a)

Sol. ATQ

Ratio of profit share of A, Band C =

= 2000 X 6 + 4000 x 6:1500 X 2 + 750 X
4:3000 x 4

=36000:6000:12000

=6:1:2

$17. Ans.(a)

Sol. From the above solution
X=Rs.2000

Y=Rs.3000

. 3000-2000
Required percentage= ————

000 % 100 = 50%

Solutions (18-19): Let smaller side of rectangular
based tank = x m

So, longer side of rectangular based tank = x + x
X 1.5=25xm

ATQ —

2.5x X x = 1440

x2=576

X =24 m

Let height of rectangular based tank = h

Given,l X b x h = 10800

60 X 24 X h =10800

h=75m
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$18. Ans.(a)

Sol. Total surface area of tank = (Ib + 2bh + 2lh)
=(60%X24+2%X24%x754+2x%x60x7.5)

= 2700 m?

$19. Ans.(c)

Sol. Radius of conical tank = 24 X g =21m
Height of conical tank=7.5x2 =15m
Capacity of water contained by conical tank
=§ nrh

=§x§ x 21 x 21 x 15

= 6930 m?

$20. Ans.(d)
Sol. ATQ.
Probability of grey pen =
5A=11+A+B
4A-B=11...(1)
And
Probability of golden pen =
4B=11+A+B
3B- A= 11 ...(ii)
From (i) and (ii) we get
B=5and A=4

Cp _d E

Req. probability = % y
2

1

11+A+B 5

1
11+A+B 4

Solutions (81-85): Let males and females in Y is 8a
& 5arespectively
Females in X = 8a+20

MalesinZ:wz 8a + 10

FemalesinZ =8a + 10 — 60 = 8a — 50
ATQ.

8a —50+8a+ 10 =200

16a = 240

a=15

Males in X=335—-(8 x 15+ 8 x 15 + 10)
=335— (120 +130) = 85

Companies | Males Females
X 85 140

Y 120 75

Z 130 70

S$21. Ans.(d)
Sol. Required difference = (85+ 120) — (130 +
70) =5

S$22. Ans.(e)
Sol. Required ratio = 130: 140 = 13:14

$23. Ans.(d)
Sol. Total number of new employees in Z = 130 +

120 x 22 470 + 140 x =
100 100
=130+ 24 + 70 + 35 = 259

S$24. Ans.(a)
Sol. Total number of females work in sales

departmentinZ =70 X 19—4 =45

Required percentage = % X 100 = 37.5%

$25. Ans.(b)
Sol. Required sum = 140 + 75 + 70 = 285

$26. Ans.(e)
Sol. Let speed of train A and train B be 7xm/sec and

4x m/sec respectively
ATQ,

(7x — 4x) =
x=4
Length of the bridge = % X 350 = 210meters

250+350
50

2504210 _ 115

Required time=
28

sec

$27. Ans.(d)
Sol. Composite compound interest for two years =
(15+ 15 + =25) = 32.25%

100
ATQ,
32.25 X X —
100
2.25X = 5625
X =2500

Required value = 2500 X % = 1125

XX15%2

= 56.25
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$28. Ans.(b) Marked price of the article
Sol. Let the total capacity of the tank (L.C.M. of 28 | =16 X 35— 20 = Rs.540

&20) be 140 liters. Selling price = i% X 108 = Rs.432
Efficiency of pipe P = % = 5 liters/min
8 $30. Ans.(a)
.- : 140 . :

Efficiency of pipe Q=§ =7 liters /min Sol. Let efficiency of a man and a woman be ‘m’
Let efficiency of pipe R=E liters /min unit/day and ‘w’ unit/ day respectively.
ATQ, ATQ,

140 XXYXm=YXXXw
— =17 m 1
E+5 — ==

w 1

140 = 7E + 35 So,
£5 _E m:w = 1la:la

7 Total work
E=15 = (18 x 1a +17 x 1a) X = = 55a units

(7+5)
: - 55 55

Required value = ?52 x 100 = 150% Req. days = m =1, = Sdays
$29. Ans.(a)

Sol. Let cost price of the article be Rs.100x

And, selling price of the article

=100x x 22 _Rs.108x
100

Marked price of the article Assistant Manager
_ 108x

=—2x 100 = Rs.135x .
80 English Medium

ATQ,

y = 135x-100x 0y 3504 80+ Total Tests
100x

IDBI BANK
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